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COMMERCE

Paper 11

Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— Attempt All questions. All questions carry equal marks.

&

Choose the technique followed to avoid mismatch between firm and environment.
(A) SWOT (B) ETOP
(C) Trend Correlation (D) Forecast

Identify the limitation period from the date of occurrence, beyond which the
District Forum or State or Natiénal Commission shall not admit a complaint

under Consumer Protection Act.

| (A) One year (B) Two years

(C) Half a year (D) 15 days

Which of the following terms refers to the set of relevant factors that influence

the operation of the firm and give a macro context ?
(A) Environment
(B) Business Environment

(C) Multi-faceted Environment

(D) Complex Environment
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4,  Under which of the following policies government takes decisions regarding

extending protection and incentives to different industries ?
(A) Fiscal policy (B) Exim policy
(C) Import-Export policy (D) Monetary policy

5. Choose the term that describes the process of integration of business activities

and growing economic interdependence between countries :

(A) Privatization (B) Libemﬁzation

\J

(C) Globalization (D) Foreign Investments

6. In comparison with a financial statement, prepared in conformity with Generally
Accepted Accounting Principles, a managerial accounting report is more likely

to :

(A) be used by decision-makers outside the business organization

)
»

(B) focus upon the operation results of the most recently completed accounting

period
(C) view the entire organization as the reporting identity
(D) be tailored to the specific needs of an individual decision-maker

T.B.C. : 27/15/ET—II 1
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7. Which of the following transactions will have a significant effect on the

prospective cash flow of a company ?
(A) Payment of dividends

(B) Conversion of debt into equity
(C) Proceeds from issuing bonds

(D) None of f.he above

8. Name the method which is associated with the assumption that further realization

of assets and liabilities of a partnership firm will not take place :
(A) Maximum Loss Method (B) Surplus Method
(C) Proportionate Method (D) Quotient Method

9. Calculate the Debit-Equity Ratio, given the total assets = ¥ 1546 and total
debts = T 579, owned capital = T 827

(A) 36.18% (B) 36.77%
(C) 37.1% (D) 37.45%
10. The amount of minority interest in the consolidated balance sheet is :
(A) Separately shown on the liabilities side
(B) Separately shown on the assets side

(C) Added to the share capital on the liabilities side

(D) Added to the goodwill on the assets side

T.B.C. : 271 5/ET—II 6
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(A) 36.18% (B) 36.77%

(C) 37.1% (D) 37.45%
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(A) =3 ¥4 ¥ femd ™ swwifrE 98 W -
(B) Ta=a ®7 ¥ fead g 05 95 W
(C) Iweifas wy W W ™ q§ 9

(D) 95 Uy W g T GE9ET
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11.. An unfavourable material price variance occurs when :

{A) Prices of raw materials rise
(B) Prices of raw materials fall
(C) Less than anticipated normal wastage takes place in the production process
(D) More than anticipated normal wastage takes place in the production process
12. State the tvpe of company where responsibility accounting is more suitable :
{A) Small company (B) Medium-sized company
(C) Undiversified company (D) Diversified company
13. When demand of a product is inelastic, then :
(A) Price and revenue remain constant
(B) Price and revenue move in the opposite direction
(C) Price and revenue move in the same direction
(D) Price changes and total revenue remains constant
14. Producers' surplus in a market is :
(A) The area below the equilibrium price and above the supply curve
(B) The area above the equilibrium price and below the demand curve
(C) The area below the supply curve
(D) The area above the supply curve

T.B.C. : 271 5/ET—I11 8
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15. According to the Cournot’s Model, if there are ‘n’ firms in the industry, each

firm will provide :

(A) % of the market (B) ﬁ of the market
1 1
(C) o= 1 of the market (D) n[n i 1) of the market
16. The ‘Enron Sc¢andal’ was revealed in the year :
(A) 1995 (B) 2001
(C) 2005 (D) 2007

17. A ‘Transformational Leader’ is a leader :
(A) who leads primarily by using social exchanges or transactions
(B) who stimulates and inspires followers to achieve extraordinary outcomes

(C) an enthusiatic, self-confident leader whose personality and actions influence

people to behave in certain ways

(D) who tends to centralize authority, dictate work methods, make unilateral
decisions and limit employee participation

18. A ‘Method’ can be defined as :

(A) Chronological sequence of sMc task required to complete the work

(B) The details of how the work is to be done by each employee

(C) General understanding that guides thinking in decision-making of the
subordinates

(D) Anumerical plan showing expectancies for a stated period and also accompli-

shments
T.B.C.: 2715/ET—I1 10
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(A) fadm = | f 301 & o sEvEs dofiEs w9
(B) 489 H, wois FHAW o0 A B w4 fFm oW w
(C) T wug | a9 Al @ fofa fafor # dw F g w5 @
(D) Teara® Ao S 9 v orafy & Y smden o i gl ®@
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19,

20.

21,

Which of the following is ‘Matrix Organisation Structure’ ?
(A) An organisational structure in which employees continuously work on projects

(B) An organisation whose design is not defined by the boundaries imposed
by a predefined structure

(C) An organisational structure in which the entire organization is made up

of work groups or teams

(D) An organisation structure that assigns specialists from different functional
departments to work on one or more projects and is based on product and

functional structures
Which of the following items is not associated with the directing function ?
{A) Leadership (B) Communication
(C) Utilizing staff departments (D) Participation
Which of the following best describes the ‘Analytic Style’ of Decision-
Making ?
(A) A decision-making style characterised by a high tolerance for ambiguity

and a rational way of thinking

(B) A decision-making style characterised by low tolerance for ambiguity and

a rational way of thinking

(C) A decision-making style characterized by a high tolerance for ambiguity
and an intuitive way of thinking

(D) A decision-making style characterized 'by a low tolerance for ambiguity and

an intuitive way of thinking

T.B.C. : 2715/ET—I1 12
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22.

23.

24.

25.

The problem of ‘Selective attention’, ‘Selective distortion’ and ‘Selective retention’

is related to :
(A) The perception process (B) The motivation process
(C) The learning process (D) The memory process

Which of the following is not included under the concept of ‘Diffusion of

Innovation’ ?

(A) Laggards " (B) Innovation

(C) Creators (D) Early Adopters

‘Market Targeting’ deals with :

(A) Selecting the market segment

(B) Idex;tifying the market segment

(C) Breaking the heterogeneous market into homogeneous units

(D) None of the above

‘Value-Based’ pricing means :

(A) Pricing based on the seller’s perception of value attached to a product
(B) Pricing based on competitor's perception of value attached to a product
(C) Pricing based on Euyer’s perception of value attached to a product

(D) Pricing based on seller’s as well as buyer’s perception of value attached

to a product

T.B.C. : 2715/ET—II 14
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26. ‘Life time Value Analysis’ is done to assess :

(A) The future value of the life time revenue of an orgnisation over a period

of time
(B) The future value of the customers of an organisation over a period of time
(C) The future value of the assets of an organisation over a period of time

(D) The future value of the brand equity of an organisation over a period of

time
27. Which one of the following is an example of an ‘Unsought Product' ?
(A) Insurance policy (B) Sugar
(C) Books (D) None of these
28. Which model considers dividend as irrelevant ?
(A) Walter's model ' (B) Gordon’s model
(C) MM model (D) All of these

29. The level of EBIT at which only the fixed financial charges of the firm are

covered and consequently the EPS is :
(A) Zero (B) 1

(C) Negative (D) None of these

T.B.C. : 2T15/ET—II 16
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30. Certainty-equivalent coefficient is equal to :

Risky cash flow
Riskless cash flow

Riskless cash flow
(B) Risky cash flow

(A)

(C) Riskless cash flow x Risky cash flow
(D) Risky cash flow — Riskless cash flow
31. Higher the fixed charge, .......cccconverninnnens :
(A) Greater would be operating leverage
(B) Lesser would be operating leverage
(C) Greater would be financial leverage
(D) Lesser would be finanical leverage
32. Test of a sound personnel policy may be :
(A) Clarity of policy (B) Uniformity of policy
(C) Consistency of policy (D) All of these
33. Development function includes :
(A) Human Resource Planning (B). Placement

(C) Recruitment (D) None of these

T.B.C. : 2715/ET—I1 18
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34.

35.

36.

37.

Delphi technique of forecasting HR requirements was developed in :
(A) Greece (B) Turkey

(C) Italy (D) Spain

‘The Payment of Wages Act’ was promulgated in ... .
(A) 1948 {(B) 1976

(C) 1947 (D) 1936

Correlation is interpreted with the help of :

(A) Karl Pearson’s simple rules (B) Probable error

(C) Coefficient of determination (D) All of these

The term ‘error’ in statistics refers to :

(A) Bias

(B) Mistake

(C) Both mistake and bias

(D) Difference between the value of a statistic and that of corresponding

parameter

TB.C. : 2715/ET—II 20
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38.

39.

40.

41,

Name the test that is applied to determine the independence of two attributes :
(A) F-test (B) T-test
(C) Chi-square Test (D) None of these

............................. is a process in which data is temporarily held to be used and

executed by a device, program or the system.

(A) Spooling (B) Copying

(C) Clipboard (D) None of these

Which one of the following provides the most accurate dt;ﬁnition of a database ?

(A) A resource that can be used to produce word-based documents

(B) A resource that can be used to design and develop a website

(C) A resource that can be used to analyze and manipulate numerical data

(D) A resource that can be used to collect, organize and store data as a single
unit

The committee to review governance of Boards of Banks in India was headed

by :
(A) P.J. Nayak (B) Unit Patel
(C) Raghuram Rajan (D) Rangarajan

T.B.C. : 27/15/ET—II 22
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42. In which year, Reserve Bank of India was enacted ?
(A) 1935 (B) 1955
(C) 1934 (D) 1948
43. CRR is based on :
(A) Capital (B) Deposits
(C) Demand and time liabilities (D) Loans and advances
44. Wireless Application Protocol provides the infrastructure for :
(A) P2P | (B) P2M
(C) Both (A) and (B) (D) None of these
45. IMF has adopted the following measures to increase international liquidity :
(A) SDRs (B) Quotas
(C) Selling gold (D) All of these
46. The number of members at the time of inception of IMF were :
(A) 28 (B) 31

(C) 29 (D) 30

T.B.C. : 2715/ET—I11 24
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47. Balance of Payment is equal to ...cccocvrvirrrncnnnnnnnn. :

48.

49,

50.

(A) Balance of current account + Balance on capital account
(B) Balance on current account + Balance on financial account

(C) Balance on current account + Balance on capital account + Statistical

discrepancy
(D) Balance on current account + Balance on capital account + Official Reserves

Which of the following is regarded as “guardian of good conduct” in the sphere

of BOPs ?
(A) IMF (B) RBI
(C) WB (D) SEBI

Under which Act Government of India notifies the EXIM policy ?
(A) Industrial Regulation Act

(B) Foreign Exchange Regulation Act

(C) Foreign Trade Development and Regulation Act

(D) Foreign Exchange Management Act

Accepting a null hypothesis, when it is false, is called :

(A) Type I error (B) Type II error

(C) Standard error (D) Samphling error

T.B.C. : 2715/ET-—11 26



47. YA & ¥ fFHud sua & 2
(A) o @ &1 oY o+ ISt = w9
(B) =] & W 919 + fadiig @@ w 9w
(C) oI & W 99 + 5t =@ w 9w 4+ wifegwra sy
(D) = = W Y 4+ IS ' Wiy 4 anfuenfis S
48. BOPs % T H =0 =yaen &1 sifuwas frefafes § @ fegsl o o & 7
(A) IMF (B) RBI
(C) WB (D) SEBI
49. forg sfufram @ srfa wRe TR EXIM 9 =1 gfad =0 & 2
(A) sirehfirs frm sifyfem
(B) fadw fafmy frome sifufiam
(C) feRw =R fasm v fene sfufas
(D) faew fafma wem sfufag
50. A IiEFew N F HiHR FW, W qE FGT B, T F@ oww@ L -
(A) =9 1 Hfe (B) 2wy II 32
(C) W Ffe D) = Sfg Ffe

T.B.C. : 2715/ET—II 27 - P.T.O.



